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(a) A line has equation 62 + 3y — 21 = 0. What is the slope of the line?

(b) A line with a slope of 3 passes through the points (1,0) and (3,c).
What is the value of c?

(c) The point (k, k) lies on the line segment AB P
sk‘xmn in the diagram. Determine the value 0.4
of k.
x
0
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The hypotenuse of right-angled AAOB lies on the line with equation y.
shown in Figure 1.
(a) What is the area of AAOB?

—20+12, as

(b) A second line passes through O and is perpendicular to the first line, as shown
in Figure 2. The two lines intersect at C. Determine the coordinates of C.

(c) The second line passes through the point D as shown in Figure 3.
Points £ and F are on the axes so that DEOF is a
rectangle. If the area of DEOF is 1352, determine the coordinates of D.
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(a) What is the sum of the z-intercept and the y-intercept of the line 3z — 3y = 247
(b)If the lines pz = 12 and 2z-+ gy = 10 intersect at (1, 1), what is the value of p-+g?

(¢) In the diagram, the line +2y = 12 intersects
the lines y = —z and y = z at points A
and B, respectively. What is the length »
of AB?

y=x
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Tn the diagram, what is the area of AABC? y

A(4.9)

x
B(0.0) C(12.0)




image2.png
For what value of k is the line through the points (3,2k + 1) and (8,4k — 5) parallel
to the z-axis?
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In the diagram, the line segment has slope —2.
What is the value of b?

(0.b)

(8.0)
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() In the diagram, line 1 has equation y = 2z-+6
and crosses the z-axis at P. What is the
-intercept of line 17 26,12

(b) Line 2 has slope —3 and intersects line 1 at
Q(3,12), as shown. Determine the equation line1
of line 2. Pt

line2

(c) Line 2 crosses the z-axis at R, as shown.
Determine the area of APQR.
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3. The diagram shows one of the lines that ¥y
pass through the point (2,6).

(@) A line through the point (2,6) has slope —3. ol
Determine the o- and y-intercepts of this line.

(b) A line through the poixt (2, ) has slope m, and (2,6)
crosses the o-axis a P and the y-axisat Q.
Determine the two values
of m for which APOQ has an area of 25.
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